Integral de una transformada

En cada uno de los ejercicios, calcular L{ f(t)} o bien cC_l{ F(s)}.

1 — cos 3t
CE
e 3 sen 2t
2. f@) = ;
LR
senh ¢
3. f(t) = ;
LR
2s
4. F(s) = GZo1)2

canek.azc.uam.mx: 17/ 5/ 2015/552


http://canek.azc.uam.mx/Ecuaciones/Teoria/6.Laplace/6.4.7.IntegralT/S3x/FD34.pdf
http://canek.azc.uam.mx/Ecuaciones/Teoria/6.Laplace/6.4.7.IntegralT/S3x/FD35.pdf
http://canek.azc.uam.mx/Ecuaciones/Teoria/6.Laplace/6.4.7.IntegralT/S3x/FD36.pdf
http://canek.azc.uam.mx/Ecuaciones/Teoria/6.Laplace/6.4.7.IntegralT/S3x/FD37.pdf

